CITY OF VINELAND, NJ

RESOLUTION NO. 2020-357

A RESOLUTION AWARDING A CONTRACT TO CHARLES MARANDINO, LLC, MILMAY, NJ FOR THE RESURFACING OF LANDIS AVENUE PHASE ZERO (MYRTLE STREET TO MAIN ROAD), IN THE AMOUNT OF \$2,116,225.25.

WHEREAS, the City of Vineland has heretofore advertised for bids for the Resurfacing of Landis Avenue Phase Zero (Myrtle Street to Main Road), in accordance with specifications on file in the office of the Purchasing Agent; and

WHEREAS, on September 1, 2020, bids were received, duly opened and read aloud, being referred to the Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Business Administrator has, under date of September 3, 2020 submitted a written report and tabulation of the bids received and has recommended that a contract for the Resurfacing of Landis Avenue Phase Zero (Myrtle Street to Main Road), be awarded to Charles Marandino LLC, Milmay, NJ, in the amount of \$2,116,225.25, said bid being lowest bid received and considered in the best interest of the City of Vineland; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said contract for the Resurfacing of Landis Avenue Phase Zero (Myrtle Street to Main Road), be and the same is awarded to Charles Marandino LLC, Milmay, NJ, on their bid in the amount of \$2,116,225.25, said bid being the lowest bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the award of contract authorized herein shall be subject to the approval of the State of New Jersey Department of Transportation;

BE IT FURTHER RESOLVED that the Chief Financial Officer has certified that the funds for the contract to be awarded herein are available.

Adonted:

Adopted.	
ATTEST:	President of Council
City Clerk	



September 3, 2020

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Board 9/1/20

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Board on September 1, 2020.

RESURFACING OF LANDIS AVENUE PHASE ZERO (MYRTLE STREET TO MAIN ROAD)

It is the recommendation of the City Engineer, which has the concurrence of the Purchasing Agent and Business Administrator that a contract be awarded to the low bidder, Charles Marandino LLC, Milmay, NJ, in the amount of \$2,116,225.25.

We trust that the above recommendation will receive your favorable consideration and that the recommended resolution will be adopted as presented.

Respectfully submitted,

Robert E. Dickenson, Jr.

Business Administrator

RD/wr





BID EVALUATION FORM

DEPARTMENT Engineering Date: 9/02/2020
The undersigned recommends that a contract be awarded for the following:
1. Bid Title: Resurfacing of Landis Avenue, Phase 0
2. Amount to be Awarded: \$2,116,225.25
Encumber Total Award
Encumber by Supplemental Release
3. Engineer's Estimate: \$2,117,934.50
4. Amount Budget: \$2,117,935.00
5. Account Number to be Charged:
6. Date Bids Received: 9/01/2020
7. Date to be Awarded: 9/03/2020
8. Recommended Vendor: Charles Marandino LLC
9. Is Recommended Vendor the Apparent Lowest Bidder? Yes No
10. Comments/Special Instructions:
11. Evaluation Performed by: RLC
12. Approved By:
David Maillet, PE
13. Attached: (Check-Off List)
Tabulation of Bids Justification for Vendor Recommendation (if applicable) Evaluation Data (if applicable)

Send copies to:
Purchasing Department
Business Administration

PURCHASING AGENT REVIEW COV BID # 2020-27

Proposals were received and opened Tuesday, September 1, 2020 at 2:00 PM for the Resurfacing of Landis Avenue, Phase Zero from the following:

Charles Marandino LLC:	\$2,116,225.25
L. Feriozzi Concrete Co:	\$2,272,436.50
South State:	\$2,318,161.50
Lexa Concrete LLC:	\$2,466,778.64
Richard E. Pierson:	\$2,783,276.50
Mount Construction:	\$2,984,547.50

Comments: All bidders submitted all the mandatory documents.

Recommendation: Award should be to Charles Marandino, LLC who provided the lowest responsive responsible bid unless the using department in their evaluation process finds a just reason to not award to the low bidder.

Purchasing Agent

CITY OF VINELAND LANDIS AVENUE PHASE ZERO BETWEEN MAIN ROAD AND MYRTLE STREET BID TABULATION

BID OPENING DATE SEPTEMBER 1, 2020

CONTRACT INFORMATION				ENGINEER'S ESTIMATE CHARLES MARANDINO LLC							L FERRIOZZI	CONCRETE		SOUTH STATE, INC.			
ITEM NO.	DESCRIPTION	UNITS	CONTRACT	ENG. EST UNIT PRICE	ENG. EST. TOTAL	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% of ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)
1	CLEARING SITE	LS	1	\$40,000.00	\$ 40,000.00	\$ 70,000.00	\$ 70,000.00	175.00%	\$30,000.00	\$ 59,572.00	\$ 59,572.00	148.93%	\$19,572.00	**********	\$ 135,000.00	337.50%	\$95,000.00
2.01	EXCAVATION, UNCLASSIFIED (IF & WHERE DIRECTED)	CY	200	\$35.00	\$ 7,000.00	\$ 1.00	\$ 200,00	2.86%	(\$6,800.00)	\$ 80.00	\$ 18,000,00	228.57%	\$9,000.00	\$ 20.00	\$ 4,000.00	57.14%	(\$3,000.00)
2.02	EXCAVATION, TEST PIT (IF & WHERE DIRECTED)	CY	20	\$500.00	\$ 10,000.00	\$ 50.00	\$ 1,000.00	10.00%	(\$9,000.00)	\$ 100.00	\$ 2,000.00	20.00%	(\$8,000.00)	\$ 400.00	\$ 8,000.00	80.00%	(\$2,000.00)
3,01	DENSE GRADED AGGREGATE BASE COURSE, VARIABLE THICKNESS (IF & WHERE DIRECTED	CY	300	\$30.00	\$ 9,000.00	\$ 1.00	\$ 300,00	3.33%	(\$8,700.00)	\$ 57.75	\$ 17,325.00	192.50%	\$8,325.00	\$ 20.00	\$ 6,000.00	66.67%	(\$3,000.00)
3,02	SELECT FILL (IF, & WHERE DIRECTED)	CY	300	\$30.00	\$ 9,000,00	\$ 1,00	\$ 300,00	3.33%	(\$8,700.00)	\$ 42.00	\$ 12,600.00	140.00%	\$3,600.00	\$ 0.01	\$ 3.00	0.03%	(\$8,997.00)
4.01	HMA MILLING, 3" OR LESS	SY	21,550	\$4.00	\$ 88,200.00	\$ 3.00	\$ 64,650.00	75.00%	(\$21,550.00)	\$ 4.00	\$ 86,200.00	100.00%		\$ 3.75	\$ 80,812.50	93.75%	(\$5,387.50)
5.01	HOT MIX ASPHALT 12.5ME SURFACE COURSE, 2" THICK	TON	2,700	\$95.00	\$ 258,500,00	\$ 80,00	\$ 216,000.00			\$ 89.25	\$ 240,975.00			\$ 87.00	\$ 234,900.00	91.58%	(\$21,600.00)
5,02	HOT MIX ASPHALT 19M84 INTERMEDIATE BASE COURSE, 4" THICK (IF & WHERE DIRECTED)	TON	300	\$95.00	\$ 28,500,00	\$ 1.00	\$ 300.00	1.05%	(\$28,200.00)	\$ 89,25	\$ 26,775.00	93.95%	(\$1,725.00)	\$ 50.00	\$ 15,000.00	52.63%	(\$13,500.00)
5.03	NO ITEM				\$ -	\$ -	\$ -				\$	#DIV/0I			\$ -	#DIV/0I	
5.04	HOT MIX ASPHALT 9,5M64 INTERMEDIATE COURSE (IF & WHERE DIRECTED)	TON	150	\$95.00	\$ -14,250.00	\$ 50,00	\$ 7,500.00	52.63%	(\$6,750.00)	\$ 89.25	\$ 13,387.50	93.95%	(\$862.50)	\$ 87.00	\$ 13,050.00	91.58%	(\$1,200.00)
5,05	TACK COAT	GAL	2,275	\$5,00	\$ 11,375.00	\$ 0.01	\$ 22.75	0.20%	(\$11,352.25)	\$ 3,25	\$ 7,393.75	65.00%	(\$3,981.25)	\$ 0.01	\$ 22.75	0.20%	(\$11,352.25)
6,01	12" REINFORCED CONCRETE PIPE	UF.	240	\$75,00	\$ 18,000.00	\$ 90.00	\$ 21,600.00	120.00%	\$3,600.00	\$ 139.75	\$ 33,540.00	188.33%	\$15,540,00	\$ 90.00	\$ 21,600,00	120,00%	\$3,600,00
8,02	15" REINFORCED CONCRETE PIPE	UF	1,350	\$85,00	\$ 114,750.00	\$ 95.00	\$ 128,250.00	111,76%	\$13,500.00	\$ 118.75	\$ 160,312.50	139.71%	\$45,562.50	\$ 95.00	\$ 128,250.00	111.76%	\$13,500.00
6,03	18" REINFORCED CONCRÉTE PIPE	LF.	90	\$95.00	\$ 8,550.00	\$ 98.00	\$ 8,820.00	103,16%	\$270.00	\$ 146.00	\$ 13,140.00	153,68%	\$4,590.00	\$ 95.00	\$ 8,550.00	100.00%	
6.04	24" REINFORCED CONCRETE PIPE	LF	180	\$110.00	\$ 19,800,00	\$ 101,00	\$ 18,180.00	91.82%	(\$1,620.00)	\$ 220.50	\$ 39,690.00	200.45%	\$19,890.00	\$ 100.00	\$ 18,000.00	90.91%	(\$1,800.00)
6.05	30" REINFORCED CONCRETE PIPE	UF .	240	\$120,00	\$ 28,800.00	\$ 121.00	\$ 29,040.00	100.83%	\$240,00	\$ 232.00	\$ 55,680.00	193.33%	\$26,880.00	\$ 120.00	\$ 28,800.00	100,00%	
6,06	12° IRON PIPE	ᄕ	30	\$100,00	\$ 3,000.00	\$ 143.00	\$ 4,290.00	143.00%	\$1,290.00	\$ 197.50	\$ 5,925.00	197,50%	\$2,925.00	\$ 95.00	\$ 2,850,00	95.00%	(\$150.00)
7.01	RECONSTRUCT INLET, TYPE 'B' WITH CASTING	UNIT	3	\$4,000,00	\$ 12,000.00	\$ 1,800.00	\$ 5,400.00	45.00%	(\$6,600.00)	\$ 3,255.00	\$ 9,765.00	81,38%	(\$2,235.00)	\$ 2,000.00	\$ 6,000.00	50,00%	(\$6,000.00)
7.02	INLET, TYPE 'A' WITH CASTING	UNIT	1	\$6,000.00	\$ 6,000,00	\$ 3,750.00	\$ 3,750.00	62.50%	(\$2,250.00)	\$ 3,255.00	\$ 3,255,00	54.25%	(\$2,745.00)	\$ 4,000.00	\$ 4,000.00	66.67%	(\$2,000.00)
7.03	RECONSTRUCTED MANHOLE, USING EXISTING CASTING	UNIT	6	\$4,000.00	\$ 24,000.00	\$ 1,850.00	\$ 11,100.00	46.25%	(\$12,900.00)	\$ 2,520.00	\$ 15,120.00	63.00%	(\$8,880.00)	\$ 2,000.00	\$ 12,000.00	50.00%	(\$12,000.00)
7.04	INLET, TYPE 'B' WITH CASTING	UNIT	12	\$8,000.00	\$ 72,000.00	\$ 3,500.00	\$ 42,000.00	58.33%	(\$30,000.00)	\$ 4,725.00	\$ 56,700,00	78.75%	(\$15,300.00)	\$ 10,000.00	\$ 120,000.00	168.67%	\$48,000.00
7.05	MANHOLE, SPECIAL STRUCTURE	UNIT	1	\$8,000.00	\$ 8,000.00	\$ 19,895.00	\$ 19,895.00	248.69%	\$11,895.00	\$ 18,270.00	\$ 18,270.00	228.38%	\$10,270.00	\$ 25,000.00	\$ 25,000.00	312.50%	\$17,000.00
7.08	MANHOLE, 6' DIAMETER	UNIT	4	\$6,000.00	\$ 24,000.00	\$ 7,800.00	\$ 31,200.00	130.00%	\$7,200.00	\$ 5,670.00	\$ 22,680.00	94.50%	(\$1,320.00)	\$ 15,000.00	\$ 60,000.00	250.00%	\$36,000.00
7.07	INLET CASTING, TYPE 'B'	UNIT	11	\$1,500.00	\$ 16,500.00	\$ 850.00	\$ 9,350.00	58.67%	(\$7,150.00)	\$ 1,627.50	\$ 17,902.50	108,50%	\$1,402.50	\$ 1,300.00	\$ 14,300.00	86.67%	(\$2,200.00)
7.08	MANHOLE, 5' DIAMETER	UNIT	6	\$6,000,00	\$ 36,000.00	\$ 7,114.00	\$ 42,684.00	118.57%	\$6,684.00	\$ 5,480.00	\$ 32,760.00	91.00%	(\$3,240.00)	\$ 10,000.00	\$ 60,000.00	166.67%	\$24,000.00

CITY OF VINELAND LANDIS AVENUE PHASE ZERO BETWEEN MAIN ROAD AND MYRTLE STREET BID TABULATION

BID OPENING DATE SEPTEMBER 1, 2020

CONTRACT INFORMATION				ENGINEE	'S ESTIMATE	CHARLES MARANDINO LLC				L FERRIOZZI CONCRETE				SOUTH STATE, INC.			
ITEM NO.	DESCRIPTION	UNITS	CONTRACT QUANTITY	ENG. EST UNIT PRICE	ENG. EST. TOTAL	EID UNIT PRICE	BID TOTAL	% of eng. est.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% of englest.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% of Eng. est.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)
8.01	CONCRETE SIDEWALK, 4" THICK	SY	4,850	\$45.00	\$ 218,250.00	\$ 79.00	\$ 383,150.00	175.58%	\$164,900.00	\$ 70.00	\$ 339,500.00	155,56%	\$121,250.00	\$ 76.00	\$ 388,600.00	168.89%	\$150,350.00
8.02	CONCRETE DRIVEWAY, REINFORCED, 6" THICK	SY	2,187	\$65.00	\$ 142,155.00	\$ 84.00	\$ 183,708.00	129.23%	\$41,553.00	\$ 80.00	\$ 174,960.00	123.08%	\$32,805.00	\$ 85.00	\$ 185,895.00	130.77%	\$43,740.00
9,01	9"x16" CONCRETE VERTICAL CURB	LF	9,450	\$35.00	\$ 330,750.00	\$ 36,00	\$ 340,200.00	102.86%	\$9,450.00	\$ 30,00	\$ 283,500.00	85.71%	(\$47,250.00)	\$ 28.50	\$ 269,325.00	81.43%	(\$61,425.00)
9.02	CONCRETE GUTTER	SY	1,600	\$35.00	\$ 58,000.00	\$ 158.00	\$ 252,800.00	451.43%	\$196,800.00	\$ 150.00	\$ 240,000.00	428.57%	\$184,000.00	\$ 98.50	\$ 157,600.00	281.43%	\$101,600.00
10	DETECTABLE WARNING SURFACE	SY	60	\$500.00	\$ 30,000.00	\$ 425.00	\$ 25,500.00	85.00%	(\$4,500.00)	\$ 350.00	\$ 21,000.00	70.00%	(\$9,000.00)	\$ 285,00	\$ 17,100.00	57.00%	(\$12,900.00)
11.01	CONSTRUCTION SIGNS	SF	800	\$25.00	\$ 20,000.00	\$ 10.00	\$ 8,000.00	40.00%	(\$12,000.00)	\$ 1.00	\$ 800.00	4.00%	(\$19,200.00)	\$ 13.00	\$ 10,400.00	52,00%	(\$9,600.00)
11.02	FLASHING ARROW BOARD, 4'x8'	UNIT	2	\$1,000.00	\$ 2,000.00	\$ 2,000.00	\$ 4,000.00	200.00%	\$2,000.00	\$ 500.00	\$ 1,000.00	50.00%	(\$1,000.00)	\$ 10,00	\$ 20.00	1.00%	(\$1,980.00)
11.03	TRAFFIC CONTROL TRUCK WITH MOUNTED CRASH CUSHIONS	UNIT	2	\$1,500.00	\$ 3,000,00	\$ 2,000.00	\$ 4,000.00	133.33%	\$1,000.00	\$ 3,500.00	\$ 7,000.00	233.33%	\$4,000.00	\$ 500.00	\$ 1,000.00	33.33%	(\$2,000.00)
11.04	DRUM	UNIT	100	\$5.00	\$ 500.00	\$ 1.00	\$ 100.00	20.00%	(\$400.00)	\$ 1.00	\$ 100.00	20.00%	(\$400.00)	\$ 0,01	\$ 1.00	0.20%	(\$499.00)
11.05	TRAFFIC CONES	UNIT	100	\$1.00	\$ 100.00	\$ 1,00	\$ 100.00	100.00%		\$ 1,00	\$ 100.00	100.00%		\$ 0.01	\$ 1,00	1,00%	(\$99.00)
11.06	BREAKAWAY BARRICADE	UNIT	25	\$10.00	\$ 250.00	\$ 1,00	\$ 25.00	10.00%	(\$225.00)	\$ 1.00	\$ 25.00	10,00%	(\$225.00)	\$ 0.01	\$ 0.25	0.10%	(\$249.75)
11.07	VARIABLE MESSAGE SIGN	UNIT	2	\$1,000.00	\$ 2,000.00	\$ 4,500.00	\$ 9,000.00	450.00%	\$7,000.00	\$ 1,500.00	\$ 3,000.00	150.00%	\$1,000.00	\$ 7,500.00	\$ 15,000.00	750.00%	\$13,000.00
11.08	TRAFFIC DIRECTOR, FLAGGER	МН	150	\$75.53	\$ 11,329.50	\$ 76.23	\$ 11,434.50	100.93%	\$105.00	\$ 76.23	\$ 11,434.50	100.93%	\$105.00	\$ 76.23	\$ 11,434.50	100.93%	\$105.00
12.01	TRAFFIC STRIPES, 4°	LF.	12,600	\$5.00	\$ 63,000.00	\$ 0.40	\$ 5,040.00	8.00%	(\$57,980.00)	\$ 0.50	\$ 6,300.00	10.00%	(\$56,700.00)	\$ 0.48	\$ 6,048.00	9.60%	(\$56,952.00)
12.02	TRAFFIC STRIPES, 12°	UF	1,130	\$20.00	\$ 22,600,00	\$ 4.00	\$ 4,520.00	20.00%	(\$18,080.00)	\$ 4.25	\$ 4,802.50	21.25%	(\$17,797.50)	\$ 4.80	\$ 5,424.00	24.00%	(\$17,176.00)
12.03	NO ITEM			<u> </u>	s -	<u> </u>	\$ ·				\$ -	#DIV/01		<u> </u>	\$ -	#DIV/01	
12.04	TRAFFIC STRIPES, 8"	LF	1,220	\$10.00	\$ 12,200.00	\$ 1.3	\$ 1,586,00	13,00%	(\$10,614.00)	\$ 1.50	\$ 1,830.00	15.00%	(\$10,370.00)	\$ 1.60	\$ 1,952.00	16.00%	(\$10,248.00)
12.05	TRAFFIC MARKINGS SYMBOLS	SF	920	\$15.00	\$ 13,800.00	\$ 6.5	\$ 5,980.0	43,33%	(\$7,820.00)	\$ 7.00	\$ 6,440.00	48.67%	(\$7,360.00)	\$ 5,00	\$ 4,600.00	33.33%	(\$9,200.00)
13.01	REGULATORY AND WARNING SIGN	SF	750	\$50.00	\$ 37,500.00	\$ 31.0	\$ 23,250.0	62.00%	(\$14,250.00)	\$ 31,50	\$ 23,825.0	63,00%	(\$13,875.00)	\$ 45.00	\$ 33,750.00		(\$3,750.00)
13.02	REFLECTIVE U-POST INSERTS	UNIT	90	\$25.00	\$ 2,250.00	\$ 31.0	\$ 2,790.0	0 124.00%	\$540.00	\$ 38.00	\$ 3,420.0	152.00%	\$1,170.00	\$ 40.00	\$ 3,600.00	 	\$1,350.00
14.01	RPM, BI-DIRECTIONAL, AMBER LENS	UNIT	53	\$35.00	\$ 1,855.00	\$ 31.0	\$ 1,643.0	0 88.57%	(\$212.00)	\$ 32.25	\$ 1,709.2	5 92.14%	(\$145.75)	\$ 36.50	\$ 1,934.50	104.29%	\$79.50
14.02	RPM, BI-DIRECTIONAL, BLUE LENS	UNIT	12	\$35.00	\$ 420.00	\$ 31.0	0 \$ 372.0	0 88.57%	(\$48.00)	\$ 32.25	\$ 387.0	92.14%	(\$33.00)	\$ 36.50	\$ 438.00	104.29%	\$18.00

CITY OF VINELAND LANDIS AVENUE PHASE ZERO BETWEEN MAIN ROAD AND MYRTLE STREET BID TABULATION

BID OPENING DATE SEPTEMBER 1, 2020

	CONTRACT INFORMATION			ENGINEE	R'S ESTIMATE		CHARLES MAR	ANDINO LLC		L. FERRIOZZI CONCRETE				SOUTH STATE, INC.			
ITEM NO.	DESCRIPTION	eTINU	CONTRACT QUANTITY	ENG. EST UNIT PRICE	ENG, EST. TOTAL	BID UNIT PRICE	BID TOTAL	% of Eng. est.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% of Eng. Est.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)
15.01	TREE REMOVAL, 18" TO 36" DIAMETER	UNIT	15	\$2,500.00	\$ 37,500.00	\$ 500.00	\$ 7,500.00	20.00%	(\$30,000.00)	\$ 800.00	\$ 12,000.00	32.00%	(\$25,500.00)	\$ 2,500.00	\$ 37,500.00	100.00%	
15.02	TREE REMOVAL, OVER 38" DIAMETER	UNIT	5	\$3,000.00	\$ 15,000,00	\$ 500.00	\$ 2,500.00	16.67%	(\$12,500.00)	\$ 2,000.00	\$ 10,000.00	66.67%	(\$5,000.00)	\$ 3,500.00	\$ 17,500.00	116.67%	\$2,500.00
16	но пем				s ·		s -				s .				s -		
17	FLASHING BEACON	UNIT	2	\$20,000.00	\$ 40,000.00	\$ 8,900.00	\$ 17,800.00	44.50%	(\$22,200.00)	\$ 13,650.00	\$ 27,300.00	68.25%	(\$12,700.00)	\$ 12,000.00	\$ 24,000,00	60,00%	(\$16,000.00)
18	TURF REPAIR STRIP	뱌	8,000	\$8.00	\$ 48,000.00	\$ 0.10	\$ 800,00	1.67%	(\$47,200.00)	\$ 4.25	\$ 34,000.00	70.83%	(\$14,000.00)	\$ 4.00	\$ 32,000,00	66.67%	(\$16,000.00)
19.01	RESET MANHOLE	UNIT	12	\$2,000.00	\$ 24,000.00	\$ 800.00	\$ 9,600.00	40.00%	(\$14,400.00)	\$ 450.00	\$ 5,400.00	22.50%	(\$18,600.00)	\$ 450.00	\$ 5,400.00	22,50%	(\$18,600.00)
19.02	NO ITEM				s -		s -				s -				s -		
19,03	RECONSTRUCCTED MANHOLE, USING EXISTING CASTING	UNIT	6	\$3,500.00	\$ 21,000.00	\$ 1,500.00	\$ 9,000,00	42.86%	(\$12,000.00)	\$ 2,520.00	\$ 15,120.00	72.00%	(\$5,880.00)	\$ 2,000.00	\$ 12,000.00	57.14%	(59,000.00)
19.04	3" RIGID NON METALLIC CONDUITS	LF.	750	\$75.00	\$ 56,250.00	\$ 31.30	\$ 23,475,00	41.73%	(\$32,775.00)	\$ 48.50	\$ 36,375.00	64.67%	(\$19,875.00)	\$ 48.00	\$ 34,500.00	61.33%	(\$21,750.00)
19.05	18x36 JUNCTION BOX	UNIT	8	\$2,500.00	\$ 20,000.00	\$ 2,440.00	\$ 19,520.00	97.60%	(\$480.00)	\$ 1,417.50	\$ 11,340.00	56.70%	(\$8,660.00)	\$ 4,000.00	\$ 32,000.00	160.00%	\$12,000.00
20	ASPHALT PRICE ADJUSTMENT	LS	1	\$20,000.00	\$ 20,000.00	\$ 20,000.00	\$ 20,000.00	100.00%		\$ 20,000.00	\$ 20,000.00	100.00%		\$ 20,000.00	\$ 20,000.00	100,00%	
21	FUEL PRICE ADJUSTMENT	LS	1	\$3,000.00	\$ 3,000.00	\$ 3,000.00	\$ 3,000.00	100.00%		\$ 3,000.00	\$ 3,000.00	100.00%		\$ 3,000.00	\$ 3,000.00	100,00%	
	TOTAL ESTIMATED PROJECT COSTS		> <	\$	2,117,934.50	$\geq \leq$	\$ 2,116,225.25			\geq	\$ 2,272,436.50			$\geq \leq$	\$ 2,318,161.50		

TABULATION OF BIDS-COV BID # 2020-27 LANDIS AVENUE RESURFACING, PHASE 0 SEPTEMBER 1, 2020



Engineers estimate - \$2,117,934.50

	Charles Marandino, LLC	L. Feriozzi Concrete Co.	South State, Inc.	Lexa Concrete LLC	Richard E. Pierson	Mount Construction
	233 Main Ave.	3010 Sunset Ave.	PO Box 68	11 Commerce Way Drive	Construction, Co. Inc.	Co. Inc.
	Milmay, NJ 08340	Atlantic City, NJ 08401	Bridgeton, NJ 08302	Hammonton, NJ 08037	426 Swedesboro Rd.	427 S. White Horse Pike
					Pilesgrove, NJ 08098	Berlin, NJ 08009
BB, CAC, CEC	BB 10%	BB 10%	BB 10%	BB 10%	BB 10%	BB 10%
Surety	YES	YES	YES	YES	YES	YES
Ownership Disclosure	YES	YES	YES	YES	YES	YES
Affirm. Action	YES	YES	YES	YES	YES	YES
Check List	YES	YES	YES	YES	YES	YES
Proposal	YES	YES	YES	YES	YES	YES
Acknowledgement of Addenda	YES	YES	YES	YES	YES	YES
Iran Disclosure	YES	YES	YES	YES	YES	YES
List of Subcontractors	YES	YES	YES	YES	YES	YES
Cert. of Debarment	YES	YES	YES	YES	YES	YES
TOTAL	\$2,116,225.25	\$2,272,436.50	\$2,318,161.50	\$2,466,778.64	\$2,783,276.50	\$2,984,547.50

Specifications also received by the following:

Arthur R. Henry Inc.

Construct Connect

American Asphalt

Arawak Paving

GWP Enterprises

AE Stone

Byrd Dog Paving LLC CIS Leads